6.1 Operations on Functions

Honors Algebra 2
1. Given f(x) =x2 -4 and g(x) = 2x + 1, find each function. Indicate any restrictions in
the domain.
a. (f+9)x)

¢ (fr9)x
(54D = (x*-u) « (2xx) (-Q-%\Qd = (xZ-)(2x+)

2| x* +2-><"3W x> -8x + x* -4

dormen (-, 09)

»

]2;('34-)(2'-87( -4 ]

doman (-8, od)

b. (f-9)X)

¢ (D
(o= 2550 |

(F-DR = (x2-4) = (2x+1)

= x%-y4-2x -1
damain’, (—m, - 72) U(-'/z,m)
= Ez -2xX =S ‘

doman (~00, ap)

2. Given f(x) = x2+7x+12 and g(x) = 3x - 4, find each function. Indicate any
restrictions in the domain.

a (f+9)) b. (f-9)x)

(-F*%}OQ= (x‘+7x+l?§+ (3x-‘-l) (;,a\u)r. (x7-+'7)<-\-l'b‘ (3*"‘0

=§"" +\OX +8\ = x¥ 47X +12-3x +Y

domant (-0, 00)

:'xz ydx + o y

doman (00, c0)
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s [3 x> 4\
dormann  (-oo, ©9)
Composition of Functions:

Suppose f and g are functions such that the range of g isa subset of the
domain of f. Then the composition function f e g can be described by: [f o gl(x) = flg(x)]

3. For each pair of functions, find [f e gl(x) and [g e f1(x), if they exist. State the
domain and range for each composed function.
a f={(18) 0,13, (51D, @49 (oD g g =0

(fog)(D #ronge o 9 y 1‘ %(S(.ovha(‘ﬂ &(ao&:)cxbz(x,ns),(n,é

svbser of domann of £ - .
- A€ = 4D . domain’ §8,5,199
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$(%(\oﬂ = 8= 9 forge S, %, 9, 8} \

g Ed HO= b7 = (32, 175, @7, 0.8)
g =1(4,3), (2,-1), (94), (3.10)} (8 o;*) (x3

(Qoa\@‘) =9 (")
4(8003 s £(3)z-2 .!;Laum._ £(4) =7 a (-pm} ‘=8(""’h 6 (-F(.HZ % e
flg@) = BEN S (@) = 509+ g r) gC-D g (Red- g &)
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c. f(x)=2x-5 and g(x) = 4«
(Fog0d = £qe)
2(4») -S

=i%x -5 l

d fx)=x*+2and gx)=x-6

(¢ oaxm = (x-)* *2
= %% -\2x¢ 43l +2

=E1-\1x *3&‘\

e. f(x)=—3xand g(x)=—x+8

@ﬁ)(ﬂ == 3(~x+<)

isx—qu

f.
‘(Qoa)ﬁﬂr- -?(a L&
> (x%-10) -y

x& <)

h

y

g f(x)=x2+2x and g(x) = 4x

(£og)0) = O « 2(4%)

*| 16 + R |
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|. (a o‘F)QQ s a(gtxb
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x= -4

(300 = -(-3d +8
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fx)=x-4 and g(x) =x?-10
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4, If f(x) =5x and g(x) =—2x + 1, and h(x) = x*> + 6x + 8, find each value:
a. glh(3)]

= (@ w+8) 5 = -+

=a(q+‘%+8‘) ‘-"70""\

= g (39) — "Im

b. hig(2)]
=h (-2 +) > = (~DF XD +%
EALSERD f = 9 -\% +}
e

c. flh(a+4)]

$Ka+‘-ﬂ" *G Cordd) 1—&]
= (2% Ba +1L +(ecr +2H 1)
> (0% + Mo + UR)

= 5(o? 4do  +US)

‘-(5&" +70a * 240)




